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QUIZ #2.2
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Q1. As shown in Fig. 1 container A, of volume 1.0 L, holds 2.0 moles of oxygen. Container B, of
volume 4.0 L, holds 2.0 moles of nitrogen. Both containers are isolated and are at the same
temperature. The valve between the two containers is open and the molecules of each gas spread to
fill the whole volume of the two containers. What is the total entropy change in the process?
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Q2. An ideal gas is initially at a pressure of 1.40 atm and has a volume of 3.50 L. It expands
isothermally to a final pressure of 0.600 atm. What is the work done in the process?
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Q3.  An ideal monatomic gas, undergoes an adiabatic expansion to one-third of its initial
pressure. Find the ratio of the final volume to the initial volume.
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